## A CHARACTERIZATION OF THE CONTINUOUS $q$-ULTRASPHERICAL POLYNOMIALS

BY<br>WALEED AL-SALAM, WM. R. ALLAWAY AND RICHARD ASKEY

Abstract. In his Ph.D. thesis Allaway found all polynomials $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ that can be represented as

$$
\begin{gathered}
w(\cos \theta) A_{n}(\cos \theta)=\sum_{k=0}^{\infty} a_{k} b_{n+k} \sin (n+2 k+1) \theta, \\
0<\theta<\pi, \quad n=0,1, \ldots,
\end{gathered}
$$

and $a_{0} b_{n} \neq 0$. We solve the essentially equivalent problem of finding all symmetric polynomials $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ with $a_{k} b_{n+k}=$ $\int_{-\infty}^{\infty} A_{n}(x) U_{n+2 k}(x) d \alpha(x)$ when $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ are orthogonal with respect to $\mathrm{d} \alpha(x)$. The polynomials are the continuous $q$-ultraspherical polynomials and some of their limiting cases.

1. Introduction. The ultraspherical polynomials $\left\{C_{n}^{\lambda}(x)\right\}_{n=0}^{\infty}$ can be defined by the recurrence relation

$$
\begin{equation*}
n C_{n}^{\lambda}(x)=2 x(n+\lambda-1) C_{n-1}^{\lambda}(x)-(n+2 \lambda-2) C_{n-2}^{\lambda}(x), \tag{1.1}
\end{equation*}
$$

$n \geq 2, C_{0}^{\lambda}(x)=1, C_{1}^{\lambda}(x)=2 \lambda x$. Szegö [9], [10, (4.9.22)] showed that for all $n \geq 0$

$$
\begin{equation*}
\frac{(\sin \theta)^{2 \lambda-1} \Gamma(\lambda) \Gamma(\lambda+1) n!}{2^{2-2 \lambda} \Gamma(n+2 \lambda)} C_{n}^{\lambda}(\cos \theta)=\sum_{k=0}^{\infty} \frac{(1-\lambda)_{k}(n+k)!}{k!(\lambda+1)_{n+k}} \sin (n+2 k+1) \theta, \tag{1.2}
\end{equation*}
$$

where the shifted factorial $(a)_{n}$ is defined by

$$
\begin{equation*}
(a)_{n}=\frac{\Gamma(n+a)}{\Gamma(a)}=a(a+1) \cdots(a+n-1) . \tag{1.3}
\end{equation*}
$$

The well known orthogonality of $C_{n}^{\lambda}(x)$ follows formally from (1.2), since

$$
\begin{aligned}
& \int_{0}^{\pi} \frac{\sin (m+1) \theta}{\sin \theta} C_{n}^{\lambda}(\cos \theta)(\sin \theta)^{2 \lambda} \mathrm{~d} \theta \\
& \quad=d_{n} \sum_{k=0}^{\infty} a_{k} b_{n+k} \int_{0}^{\pi} \sin (n+2 k+1) \theta \sin (m+1) \theta \mathrm{d} \theta \\
& \quad=0,
\end{aligned}
$$

Received by the editors April 11, 1983
AMS Subject Classification (1980): Primary 33A65
Secondary 42A52

Supported in part by N.S.E.R.C. Grant A2975.
Supported in part by N.S.E.R.C. Grant A8721 and by the President's N.S.E.R.C. Fund (Lakehead University).

Supported in part by N. S. F. Grant MCS-8101568.
(C) Canadian Mathematical Society, 1984.
where $m<n$, and where $\sin (m+1) \theta / \sin \theta$ is a polynomial of degree $m$ in $x=\cos \theta$. Thus,

$$
\int_{-1}^{1} C_{n}^{\lambda}(x) p_{m}(x)\left(1-x^{2}\right)^{\lambda-1 / 2} \mathrm{~d} x=0
$$

for all polynomials $p_{m}(x)$ of degree $m<n$. When $\lambda>1 / 2$, this argument is easily justified by uniform convergence, and it can be justified with some work when $0<\lambda \leq 1 / 2$. When $-1 / 2<\lambda<0$ orthogonality continues to hold but the series (1.2) diverges. The series (1.2) suggests the following question. Find all sets of polynomials $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ that can be represented in the form

$$
\begin{equation*}
w(x) A_{n}(x)=\sum_{k=0}^{\infty} a_{k} b_{n+k} U_{n+2 k}(x), \tag{1.5}
\end{equation*}
$$

where $U_{n}(x)$ is defined by

$$
\begin{equation*}
U_{n}(x)=\sin (n+1) \theta / \sin \theta, \quad x=\cos \theta . \tag{1.6}
\end{equation*}
$$

The integral (1.4) suggests a related question. Find all sets of polynomials $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ that are orthogonal and

$$
\begin{equation*}
\int_{-1}^{1} A_{n}(x) U_{n+2 k}(x) w(x) \mathrm{d} x=a_{k} b_{n+k} \tag{1.7}
\end{equation*}
$$

when $k, n=0,1,2, \ldots$.
From the formal argument above $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ is orthogonal with respect to $w(x)$, so we will assume that in (1.7). The first of these questions was solved by Allaway [2]. The same methods are used to solve both problems, and a slightly wider class of polynomials arises in the solution of the second problem, so we will solve it here.

When Allaway solved the first problem the most general such polynomials were not well known, so he did not mention them. These polynomials were introduced by L. J. Rogers [8]. Their recurrence relation is

$$
\begin{align*}
\left(1-q^{n}\right) C_{n}(x ; \beta \mid q)= & 2 x\left(1-\beta q^{n-1}\right) C_{n-1}(x ; \beta \mid q) \\
& -\left(1-\beta^{2} q^{n-2}\right) C_{n-2}(x ; \beta \mid q) \quad(n \geq 2),  \tag{1.8}\\
C_{0}(x ; \beta \mid q)= & 1, \quad C_{1}(x ; \beta \mid q)=2(1-\beta) x /(1-q) .
\end{align*}
$$

When $\beta=q^{\lambda}$ and $q \rightarrow 1$, they converge to the ultraspherical polynomials $\left\{C_{n}^{\lambda}(x)\right\}_{n=0}^{\infty}$.

A more general identity than (1.5) was found in [4]. It is

$$
\begin{equation*}
w_{\beta}(x) C_{n}(x ; \beta \mid q)=\sum_{k=0}^{\infty} a(k, n) C_{n+2 k}(x ; \gamma \mid q) w_{\gamma}(x), \tag{1.9}
\end{equation*}
$$

where

$$
\begin{aligned}
a(k, n)= & \frac{\beta^{k}(\gamma / \beta ; q)_{k}\left(q^{n+1} ; q\right)_{2 k}\left(\gamma^{2} q^{n+2 k} ; q\right)_{\infty}\left(\beta q^{n+k+1} ; q\right)_{\infty}}{(q ; q)_{k}\left(\gamma q^{n+k} ; q\right)_{\infty}\left(\beta^{2} q^{n} ; q\right)_{\infty}(\gamma ; q)_{\infty}} \\
& \times(\beta: q)_{\infty}\left(1-\gamma q^{n+2 k}\right) .
\end{aligned}
$$

This can also be written as

$$
\begin{aligned}
a(k, n)= & \frac{\left(\gamma^{2} ; q\right)_{\infty}(\beta ; q)_{\infty}(\beta q ; q)_{\infty} \beta^{k}(\gamma / \beta ; q)_{k}\left(\beta^{2} ; q\right)_{n}}{(\gamma ; q)_{\infty}(\gamma q ; q)_{\infty}\left(\beta^{2} ; q\right)_{\infty}(q ; q)_{k}(q ; q)_{n}} \\
& \times \frac{(\gamma ; q)_{n+k}(q ; q)_{n+2 k}(\gamma q ; q)_{n+2 k}}{(\beta q ; q)_{n+k}\left(\gamma^{2} ; q\right)_{n+2 k}(\gamma ; q)_{n+2 k}}
\end{aligned}
$$

Here $|q|<1$,

$$
\begin{equation*}
(a ; q)_{\propto}=\prod_{k=0}^{\infty}\left(1-a q^{k}\right) \tag{1.10}
\end{equation*}
$$

and

$$
\begin{equation*}
(a ; q)_{n}=(a ; q)_{\infty} /\left(a q^{n} ; q\right)_{\infty}=\prod_{k=0}^{n-1}\left(1-a q^{k}\right) \tag{1.11}
\end{equation*}
$$

In (1.9) take $\gamma=q$ to obtain

$$
\begin{gather*}
\frac{w_{\beta}(x)(q ; q)_{\infty}\left(\beta^{2} ; q\right)_{\infty}}{\sqrt{ }\left(1-x^{2}\right)(\beta ; q)_{\infty}(\beta q ; q)_{\infty}} \frac{(q ; q)_{n}}{\left(\beta^{2} ; q\right)_{n}} C_{n}(x ; \beta \mid q)  \tag{1.12}\\
\quad=\sum_{k=0}^{\infty} \frac{\beta^{k}(q / \beta ; q)_{k}(q ; q)_{n+k}}{(q ; q)_{k}(\beta q ; q)_{n+k}} U_{n+2 k}(x) .
\end{gather*}
$$

This has the form (1.5) with

$$
\begin{align*}
& a_{k}=\beta^{k}(q / \beta ; q)_{k} /(q ; q)_{k} \\
& b_{n}=(q ; q)_{n} /(\beta q ; q)_{n} . \tag{1.13}
\end{align*}
$$

These are the values of $a_{k}$ and $b_{n}$ that need to be found in both (1.5) and (1.7). Since $|\beta|<1$ is necessary for convergence in (1.12) (when $|q|<1$, which we will assume most of the time), it is better to consider the second problem. However the same problem occurs here, since $\beta^{k}$ grows geometrically when $|\beta|>1$, and it cannot grow this fast if it is given by (1.7). Thus we extend the representation slightly to

$$
\begin{equation*}
\int_{-\infty}^{\infty} A_{n}(x) U_{n+2 k}(x) \mathrm{d} \alpha(x)=a_{k} b_{n+k} \tag{1.7'}
\end{equation*}
$$

where $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ is orthogonal with respect to $\mathrm{d} \alpha(x)$.
2. The characterization problem and some necessary and sufficient conditions. We will add one last restriction to the problem. The series (1.5) is even or odd depending on the parity of $n$. We assume the same about $A_{n}(x)$.

Problem 1. Find all sets of orthogonal polynomials $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ with

$$
\begin{gather*}
\int_{-\infty}^{\infty} A_{n}(x) A_{k}(x) \mathrm{d} \alpha(x)=\delta_{k, n} h_{n},  \tag{2.1}\\
A_{n}(-x)=(-1)^{n} A_{n}(x), \tag{2.2}
\end{gather*}
$$

$$
\begin{equation*}
\int_{-\infty}^{\infty} A_{n}(x) U_{n+2 k}(x) \mathrm{d} \alpha(x)=a_{k} b_{n+k}, \tag{2.3}
\end{equation*}
$$

$k, n=0,1, \ldots$.
If $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ is a set of polynomials orthogonal on the real line with respect to a complex measure then it satisfies for $n=2,3, \ldots$

$$
\begin{equation*}
A_{n}(x)=\left(2 \mu_{n} x+c_{n}\right) A_{n-1}(x)-\lambda_{n} A_{n-2}(x), \tag{2.4}
\end{equation*}
$$

$A_{0}(x)=1, \quad A_{1}(x)=2 \mu_{1} x+c_{1}$. If $\quad A_{n}(-x)=(-1)^{n} A_{n}(x)$, then $c_{n}=0, \quad n=$ $1,2, \ldots$. The coefficients $\mu_{n}$ and $\lambda_{n}$ satisfy $\mu_{n} \lambda_{n+1} \neq 0, n=1,2, \ldots$ See [7, Chapter 1, Theorem 4.4].

For definiteness take $a_{0}=1$. Since

$$
U_{n}(x)=2^{n} x^{n}+\text { lower terms }
$$

and
we have

$$
A_{n}(x)=(2 x)^{n} \prod_{i=1}^{n} \mu_{i}+\text { lower terms }
$$

$$
h_{n}=\int_{-\infty}^{\infty}\left[A_{n}(x)\right]^{2} \mathrm{~d} \alpha(x)=b_{n} \prod_{i=1}^{n} \mu_{i} .
$$

The recurrence relation (2.4) gives

$$
h_{n}=\mu_{n} \lambda_{n+1} h_{n-1} / \mu_{n+1}, \quad n=1,2, \ldots,
$$

so

$$
\begin{equation*}
b_{n}=h_{0} \prod_{j=2}^{n+1} \gamma_{j}, \quad n=1,2, \ldots \tag{2.5}
\end{equation*}
$$

where

$$
\gamma_{i}=\lambda_{j} / \mu_{j}, \quad j=2,3, \ldots
$$

Use the recurrence relation (2.4) and

$$
\begin{align*}
& 2 x U_{n}=U_{n+1}(x)+U_{n-1}(x), \quad n=1,2, \ldots  \tag{2.6}\\
& U_{0}(x)=1, U_{1}(x)=2 x,
\end{align*}
$$

in (2.3) to obtain
or

$$
a_{k} b_{n+k}=\frac{a_{k-1} b_{n+k}}{\mu_{n+1}}+\frac{\lambda_{n+1}}{\mu_{n+1}} a_{k} b_{n+k-1}-a_{k-1} b_{n+k-1},
$$

$$
b_{n+k}\left[a_{k}-\frac{a_{k-1}}{\mu_{n+1}}\right]=b_{n+k-1}\left[\frac{\lambda_{n+1}}{\mu_{n+1}} a_{k}-a_{k-1}\right] .
$$

Then use (2.5) and replace $n$ by $n-1$. The result is

$$
\begin{equation*}
\gamma_{n+k}\left[a_{k}-a_{k-1} / \mu_{n}\right]=\gamma_{n} a_{k}-a_{k-1}, \quad n, k \geq 1 \tag{2.7}
\end{equation*}
$$

with $\gamma_{1}=0$. This is consistent with (2.4), since $\lambda_{1}=0$ implies $A_{1}(x)$ is as given.

Let $n=1$ in (2.7) to obtain

$$
\begin{equation*}
a_{k}=\left(\frac{1}{\mu_{1}}-\frac{1}{\gamma_{k+1}}\right) a_{k-1} . \tag{2.8}
\end{equation*}
$$

Since $\lambda_{n+1} \mu_{n} \neq 0, \gamma_{n}$ does not vanish, so if $a_{n}=0$, then $a_{k}=0$ for $k>n$. Let $m$ be the smallest integer with $a_{m}=0$ if such exists, and be infinite if $a_{k} \neq 0$, $k=0,1, \ldots$.

Set $\alpha_{k}=a_{k} / a_{k-1}, k=1,2, \ldots, m$. Then

$$
a_{k}=\prod_{i=1}^{k} \alpha_{i}
$$

and equation (2.7) becomes

$$
\begin{equation*}
\gamma_{n+k}\left[\alpha_{k}-\mu_{n}^{-1}\right]=\gamma_{n} \alpha_{k}-1 \quad n \geq 1 ; \quad 1 \leq k \leq m . \tag{2.9}
\end{equation*}
$$

To solve Problem 1 we solve (2.9).
3. The solution of a finite difference equation. When $n=1$ in (2.9), we recover

$$
\begin{equation*}
\alpha_{k}=\mu_{1}^{-1}-\gamma_{k+1}^{-1} \quad 1 \leq k \leq m . \tag{3.1}
\end{equation*}
$$

Use (3.1) with $k$ replaced by $k+1$ and (2.9) when $n=2$ to obtain

$$
\begin{equation*}
\alpha_{k+1}\left(1-\gamma_{2} \alpha_{k}\right)+\left(\frac{\gamma_{2}}{\mu_{1}}-1\right) \alpha_{k}+\left(\frac{1}{\mu_{2}}-\frac{1}{\mu_{1}}\right)=0, \quad 1 \leq k \leq m-1 . \tag{3.2}
\end{equation*}
$$

From (3.2) we see that $\alpha_{k}$ is uniquely determined in terms of $\mu_{1}, \mu_{2}$ and $\gamma_{2}$ if $\alpha_{i} \gamma_{2} \neq 1, i=1,2, \ldots, k-1$. If $\alpha_{i} \gamma_{2}=1$, then $\gamma_{2}=\mu_{2}$. Thus there are two cases to consider, $\gamma_{2} \neq \mu_{2}$ and $\gamma_{2}=\mu_{2}$.

Case I. $\gamma_{2} \neq \mu_{2}$. In this case

$$
\begin{equation*}
\alpha_{k+1}=\left(a+b \alpha_{k}\right) /\left(1-c \alpha_{k}\right) \tag{3.3}
\end{equation*}
$$

with $a=\mu_{1}^{-1}-\mu_{2}^{-1}, b=1-\gamma_{2} / \mu_{1}$, and $c=\gamma_{2}$. The solution of (3.3) is a standard exercise in continued fractions, but we are a bit better off than that since we know what the answer should be. Since $a_{k}$ is given by

$$
a_{k}=\frac{\beta^{k}(q / \beta ; q)_{k}}{(q ; q)_{k}}
$$

we want

$$
\alpha_{k}=a_{k} / a_{k-1}=\left(\beta-q^{k}\right) /\left(1-q^{k}\right)
$$

This is a little too much, since the constants $\mu_{1}, \mu_{2}$ and $\gamma_{2}$ are independent, so $\alpha_{k}$ must depend on three parameters. We can take for $n \geq 1$,

$$
\begin{equation*}
\alpha_{n}=\frac{\left(\beta-q^{n}\right)}{\rho\left(1-q^{n}\right)} \tag{3.4}
\end{equation*}
$$

To determine how $\beta, \rho$ and $q$ are defined in terms of $\mu_{1}, \mu_{2}$ and $\gamma_{2}$ substitute for $\alpha_{n}$ as given by (3.4) in (3.3). The details are tedious and will be omitted. The right choices are

$$
\begin{gather*}
\mu_{1}=\rho /(1+\beta)  \tag{3.5}\\
\mu_{2}=\rho(1-\beta q) /\left(1-\beta^{2} q\right)  \tag{3.6}\\
\gamma_{2}=\rho(1-q) /(1-\beta q) . \tag{3.7}
\end{gather*}
$$

It is easy to show that (3.4) satisfies (3.2) with this choice of $\mu_{1}, \mu_{2}$ and $\gamma_{2}$. For $n \geq 1$, formula (3.1) gives

$$
\begin{equation*}
\gamma_{n}=\rho\left(1-q^{n-1}\right) /\left(1-\beta q^{n-1}\right) \tag{3.8}
\end{equation*}
$$

and (2.9) gives

$$
\begin{align*}
& \mu_{n}=\rho\left(1-\beta q^{n-1}\right) /\left(1-\beta^{2} q^{n-1}\right)  \tag{3.9}\\
& \lambda_{n}=\rho^{2}\left(1-q^{n-1}\right) /\left(1-\beta^{2} q^{n-1}\right) \tag{3.10}
\end{align*}
$$

The Jacobian of the transformation (3.5)-(3.7) is

$$
\frac{-\rho^{2}(1-\beta)^{2}(1-q)}{(1+\beta)^{2}\left(1-\beta^{2} q\right)^{2}(1-\beta q)} .
$$

Thus there are potential problems when $\beta=1$ or $q=1$. If $\beta=1$ and $q \neq 1$, then $\gamma_{2}=\mu_{2}$, which is the second case. If $\beta \neq 1, q=1$, then $\gamma_{2}=0$. We assume this did not happen when we assumed $\left\{A_{n}(x)\right\}_{n=0}^{\infty}$ is an orthogonal polynomial set. The remaining case is when $\beta \rightarrow 1$ and $q \rightarrow 1$ simultaneously. In this case we can take $\beta=q^{\lambda}$ and obtain

$$
\begin{align*}
\alpha_{k} & =(k-\lambda) / \rho k  \tag{3.11}\\
\gamma_{k} & =\rho(k-1) /(k+\lambda-1)  \tag{3.12}\\
\mu_{k} & =\rho(k+\lambda-1) /(k+2 \lambda-1)  \tag{3.13}\\
\lambda_{k} & =\rho^{2}(k-1) /(k+2 \lambda-1) . \tag{3.14}
\end{align*}
$$

Thus the cases that arise when $\gamma_{2} \neq \mu_{2}$ are the continuous $q$-ultraspherical polynomials and the ultraspherical polynomials.

We have not mentioned the integer $m$ except as a condition for how long these formulas hold. When $\beta=q^{m}, \alpha_{m}=0$, so $a_{m}=0$, and then $a_{k}=0$ for $k \geq m$. This case is a limit of the case $\beta=q^{\lambda}$, when $\lambda \rightarrow m$, so a second method of treating the case $m$ finite is to change the parameter slightly so $m$ is infinite, and at the end take an appropriate limit.

Case II. $\gamma_{2}=\mu_{2}$. This can be handled directly, and it was in [2]. However, it is easier to change $\gamma_{2}$ so that $\gamma_{2} \neq \mu_{2}$ and then take an appropriate limit. When $\gamma_{2}=\mu_{2}$, (3.6) and (3.7) give $q(1-\beta)^{2}=0$. There is no problem in taking $q=0$ in all the above formulas.

The other case $\beta=1$ is more subtle. It seems to imply $\alpha_{n}=\rho^{-1}, n=1,2, \ldots$, and also $\gamma_{n}=\mu_{n}=1$. However, if $q^{n}=1$ a limit needs to be taken in (3.4). One way this can be done is to set

$$
\begin{equation*}
q=s \exp (2 \pi i / k), \quad \beta=s^{\lambda k} \tag{3.15}
\end{equation*}
$$

Then

$$
\alpha_{n}=\lim _{s \rightarrow 1} \frac{s^{\lambda k}-s^{n} \exp (2 \pi i n / k)}{\rho\left(1-s^{n} \exp (2 \pi i n / k)\right)}
$$

so

$$
\begin{array}{rlr}
\alpha_{m k} & =\frac{m-\lambda}{\rho m} ; \alpha_{n}=\rho^{-1}, & n \neq m k, n>0, \\
\gamma_{m k+1} & =\frac{\rho m}{(m+\lambda)} ; \gamma_{n}=\rho, & n \neq m k+1, n>1, \\
\mu_{m k+1} & =\frac{\rho(m+\lambda)}{(m+2 \lambda)} ; \mu_{n}=\rho, & n \neq m k+1, n>1, \\
\lambda_{m k+1} & =\frac{\rho^{2} m}{(m+2 \lambda)} ; \lambda_{n}=\rho^{2}, & n \neq m k+1, n>1 . \tag{3.19}
\end{array}
$$

It is easy to show that any other $k$ th root of unity leads to the same polynomials.
4. Further comments. These polynomials are orthogonal when $\lambda_{n+1} \mu_{n} \neq 0$, $n=1,2, \ldots$. In general there are many measures for which

$$
\begin{equation*}
\int_{-\infty}^{\infty} A_{n}(x) A_{m}(x) \mathrm{d} \alpha(x)=0, \quad m \neq n, \tag{4.1}
\end{equation*}
$$

and it is not clear how to find any of them. There is one very important class of polynomials where there is a positive measure $\mathrm{d} \alpha(x)$, and in this case the measure has been found. Positivity of some measure is equivalent to

$$
\begin{equation*}
\lambda_{n} / \mu_{n-1} \mu_{n}>0, \quad n \geq 2, \tag{4.2}
\end{equation*}
$$

or when $A_{n}(x)$ is replaced by $i^{n} A_{n}(i x)$ by

$$
\begin{equation*}
\lambda_{n} / \mu_{n-1} \mu_{n}<0, \quad n \geq 2 . \tag{4.3}
\end{equation*}
$$

As far as we know all the special cases where the measure is positive have been worked out, but we may be wrong. The cases when $q$ is real were treated in [3], [4], [5] and [6]. The complex cases of $q$ were not treated in any of these papers. The polynomials in Case II and their orthogonality relation will be given in [1]. When one starts with the polynomials in Case I with $\gamma_{n}, \mu_{n}$, and $\lambda_{n}$ given by (3.8)-(3.10), it is possible to renormalize them in another way so that a different set of polynomials arise when $q$ approaches a root of unity. This second set of sieved ultraspherical polynomials will also be treated in [1].

## References

1. W. Al-Salam, W. R. Allaway and R. Askey, Sieved ultraspherical polynomials, Trans. Amer. Math. Soc. to appear.
2. W. R. Allaway, The identification of a class of orthogonal polynomial sets, Ph.D. Thesis, University of Alberta, Edmonton, Alberta, Canada, 1972.
3. R. Askey and M. Ismail, The Rogers q-ultraspherical polynomials, Approximation Theory, III, ed. E. W. Cheney, Academic Press, New York, 1980, 175-182.
4. R. Askey and M. Ismail, A generalization of ultraspherical polynomials, Studies in Pure Mathematics, ed. P. Erdös, Birkhäuser, 1983, 55-78.
5. R. Askey and M. Ismail, Recurrence relations, continued fractions and orthogonal polynomials, Mem. Amer. Math. Soc. to appear.
6. R. Askey and J. Wilson, Some basic hypergeometric orthogonal polynomials that generalize Jacobi polynomials, Mem. Amer. Math. Soc., to appear.
7. T. S. Chihara, Introduction to Orthogonal Polynomials, (Gordon and Beach, New York, 1978).
8. L. J. Rogers, Third memoir on the expansion of certain infinite products, Proc. London Math. Soc., 26 (1985), 15-32.
9. G. Szegö, Über gewisse orthogonale Polynome, die zu einer oszillierenden Belegungsfunktion gehören, Math. Ann. 110 (1934), 501-513. Reprinted, G. Szegö, Collected Papers, Vol. 2, Birkhäuser-Boston, 1982, 545-557.
10. G. Szegö, Orthogonal Polynomials, fourth edition, (Amer. Math. Soc., Providence, R.I., 1975).

Department of Mathematics,
University of Alberta,
Edmonton, Canada T6G 2G1.

Department of Mathematical Sciences,
Lakehead University, Thunder Bay,
Ontario, Canada P7B 5E1.

Department of Mathematics,
Van Vleck Hall,
University of Wisconsin,
480 Lincoln Drive,
Madison, Wisconsin, U.S.A. 53706.

